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7|2 X+H ZH(HY- &) 712 543E SH (S &)
(F)H[QHO| O] A{H| A 10,000,000 oz 100,000
0[7|d 5,000,000 0[5 100,000
A 5,000,000 =y RS 100,000
(F)uiolH2|of 3,000,000 (F)EYH=CXIO 100,000
HFG Al 2,000,000 (PHIH™HE T |& 100,000
@A 2,000,000 CIRpQ I A 100,000
M55t 1,500,000 T72A 100,000
SI=[sbN] 1,000,000 USIEH 100,000
ZIMQ! 1,000,000 OtESHRZH|(ZLR) 100,000
20|12 1,000,000 A =H|0|H2|(LX|H EZOIIIEAT}) 50,000
EHSI2U 2| H|O|E{(X) 1,000,000 HIX|ZE(EHS) 50,000
@0|2HZ A AE 1,000,000 SHI|2(HSOROIR 50,000
(F)SEA HAH 570,000 ST A A2t 50,000
S 500,000 oA 50,000
M2l 500,000 FAES -} 50,000
1E3 500,000 A 50,000
CIpsi=! 500,000 21e8 50,000
WIE|5H0) 500,000 A7 50,000
AMAKXE 500,000 ZESIT(ESSLURAE) 50,000
XA 300,000 MBS SYUTALAE]) 50,000
Of| A4 i 200,000 A2IQUAl 50,000
(F)22/0t0|E| 100,000 SAEIT 50,000
H2A| A0} 100,000 ALlOH=Rr2] AMEHSIE) 50,000
QELIIY(ESEHRIOIT) 100,000 ROALAL 50,000
ML ELEAOA 100,000 MHS 30,000
AR 100,000 =S 30,000
A 100,000 HFCH X} 30,000
i 30,000 255t 10,000
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715 RS S 2) II=p =
i=h 30,000 2AY
ade 30,000 NEE
7|3 30,000 ETIN
282 30,000 aEAR
=5/3 30,000 TP
o 20,000
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